1 = IR

T (ER) XKetEoH Wiz H>NT

il

(ER) HEFEBOARIZE VMY E-FHRIT. BRI
R 2 G BN 5720, BEERIOFHIZHT- > Tit,
va— RE{To A ITENCB T 25 1 IRFIHICES & D
 AEEEIZEDOT [E=22~0RMIT748] ZIiT7b2\2

=3
=n

2
U
L

i H

e\

O

0 IR



2




2

43, 663, 400

39, 694, 000

3,969, 400
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(2)

35%

40%

0.00
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39, 694, 000

2 33, 102, 000
3 25, 008, 000
4 21, 251, 000
5 1. 000 13, 975, 000
6 1. 000 7,276, 000
7 11, 851, 000
8 3, 757,000
9 1. 000 0
10
( 4+9+25+26+31+34- 36- 37-38) x (( * + )* * * )

19, 848, 000x ((12.130*1. 000+0. 000) *1. 000* 1. 040* 1. 00Q) 12. 620 2, 505, 000
11 1. 000 507, 000
12 1. 000 0
13 1. 000 0
14 1. 000 0
15 1. 000 745, 000
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16 1. 000 0
17 0
18
(4+25+32-33) % ( )
19, 211, 000x_( 0. 000) 0. 000 0
19 1. 000 0
20 8, 094, 000
21
(4+8+25+26+27+30- 36- 38) x (( * ) * * * + + )
23, 605, 000x ((31.460*1. 000) *1. 000* 1. 090* 1. 000+). 000+0. 000- 0. 000) 34. 290 8, 094, 000
22 1. 000 0
23 1. 000 0
24 1. 000 0
25 1. 000 0
26 1. 000 0
27 1. 000 0
28

(4+7-23-36-38) x (

*
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4)

31, 699, 000x (19.580*1. 000 0.04) 19. 620 6, 219, 000
29 1. 000 373, 000
30 0
31 0
32 0
33 2, 040, 000
34 0
35 0
36 1, 403, 000
37 0
38 0
39
(1-29) x
39, 321, 000x_4. 890 4. 890 1. 923 000
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13, 975, 000

1. 000 4, 532, 000

1.000 2, 325, 000

560. 000 4,152 2,325,120

2,325,120

1. 000 2, 207, 000

500. 000 4,413 2, 206, 500

2, 206, 500

1. 000 449, 000

1. 000 238, 000
11. 000 2,683 29, 513 3
23. 000 2, 683 61, 709 4

34. 000 4,152 141, 168

5. 000 1,193 5, 965

238, 355
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1. 000 211, 000
2.5m B 4.0m 15. 000 1,482 22,230 7
4.0m B 35. 000 888 31, 080 8
5. 000 888 4, 440 9
B 1.0m  C=60kN n? 1. 000 1,969 1,969 10
1.0m B 2.5m  G=60kN n2 1. 000 6, 945 6, 945 11
2.5m B 4.0m  C60kN n2 4. 000 2,936 11,744 12
4.0m B G60kN n2 5. 000 3,480 17,400 13
21.000 721 15,141 14
35. 000 2, 856 99, 960 15
210, 909
1. 000 5, 626, 000
1.000 592, 000
B=300 35. 500 12, 021 426, 746 16
B=300 6. 900 22,714 156, 727 17
L=5.1m 2.000 1,989 3,978 18
L=5.1m 2. 000 2, 102 4. 204 19
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591, 655

1.000 5, 034, 000
t=100 [=3.0m 244. 000 8, 363 2,040, 572 20
t=100 L=3.7m 306. 000 8,137 2,489, 922 21
t=10cm 55. 000 n8 1,557 85, 635 22
468. 000 892 417, 456 23

5, 033, 585

1. 000 1, 019, 000

1. 000 18, 000
18-8-40 0. 200 n8 36, 120 7,224 24
1. 200 8,274 9,929 25
L=150 80845, D13 0. 002 ton 174, 645 349 26
L=300 Sm845, D13 0. 002 ton 174, 645 349 27
@ 6, 150x 150 0. 400 487 195 28

18, 046
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11)

1. 000 1, 001, 000
18-8-40 10. 000 30, 630 306, 300 29
63. 000 9, 137 575, 631 30
RG 40 t=150 27. 000 1,383 37,341 31
t=10 1. 000 4, 895 4, 895 32
19. 000 656 12, 464 33
38. 000 460 17,480 34
15. 000 2,751 41, 265 35
- 2.000 2, 856 5,712 36

1, 001, 088

1. 000 603, 000

1. 000 603, 000
As 290. 000 591 171, 390 37
(€] 313. 000 840 262, 920 38
As 12. 000 1,610 19, 320 39
@ 31. 000 1, 645 50, 995 40
A +O 43. 000 2,293 98. 599 41
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603, 224

1.000 1, 746, 000

1. 000 48, 000
13. 000 1,080 14, 040 42
- 13. 000 2,635 34, 255 43

48, 295

1. 000 1, 484, 000
290. 000 116 33, 640 44
RM30 t=100 373. 000 500 186, 500 45
Asl13 t=40 663. 000 1,907 1,264, 341 46

1,484, 481

L=2.5m L=5.7m 1. 000 214, 000
18-8-40 1.500 37, 680 56, 520 47
15. 000 8,274 124, 110 48
18-8-25 0. 700 36. 860 25, 802 49




(

6/

11)

1. 700

4, 622

7,857

50

214, 289
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7,276, 000

1. 000 7, 276, 000
1.000 369, 000
355. 000 1,039 368, 845 51
368, 845
1. 000 3, 805, 000
1,100 307 337, 700 52
54. 000 751 40, 554 53
1, 200. 000 2, 856 3,427, 200 54
3. 805, 454
1. 000 668, 000
1.000 101, 320 101, 320 55
1. 000 498, 258 498, 258 56
1. 000 68, 657 68, 657 57

668, 235
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1. 000 456, 000
28 16, 275 455, 700 58

455, 700

1. 000 1, 978, 000
470. 000 307 144, 290 59
470. 000 2, 856 1,342, 320 60
2, 090. 000 104 217, 360 61
310. 000 885 274, 350 62

1,978, 320
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507, 000

1. 000 507, 000
1.000 507, 000
N=76 60. 950 ton 8,320 507, 104 63

507, 104
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745, 000

1. 000 745, 000
1.000 745, 000

1 11. 000 66, 100 727, 100 64
1. 000 18, 000 18, 000 65

745, 100
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373, 000

1. 000 366, 000

1.000 366, 000

2. 000 183, 000 366, 000 66
366, 000

1. 000 7, 000

1. 000 7,000

1. 000 7, 300 7,300 67

7, 300
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n8 1.000 n3
(
50, 000nB 1. 000 n3 221 221 35
0. 8n3( 0.6n8), ( ), . 15. 5km 1. 000 n8 2,131 2,131 39
1. 000 n8 1,800 1,800 14
4,152
4,152
n8 1. 000 n8
. 1. 000 n8 261.2 261 36
(
50, 000n8 1. 000 n8 221 221 35
0. 8ng( 0. 6n3), ( ), , 15. 5km 1. 000 n3 2,131 2,131 39
1. 000 n8 1,800 1,800 14
4,413

4.413
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1. 000 n8

)TN

1.000

1,989

1,989

37

0. 28n3(

0.2n8),

(

0. 2k

1. 000

694. 4

694

40

2,683

2, 683

1. 000 n8

).,

1. 000

1,989

1,989

37

0. 28n3(

0.2n8),

(

. 0. 2k

1. 000

694.4

694

40

2,683

2, 683
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26)

- 1.000 n3
P (
50, 000n8 1. 000 221 221 35
sP
0. 8ng( 0.6n8), ( ). . 15. 5km 1. 000 2,131 2,131 39
1.000 1,800 1,800 14
4, 152
4,152
6
1. 000 n3
sP
------------ 1. 000 1,193 1,193 32
1,193
1,193
7
2.5m B 4.0m 1. 000 n3
sP
25m 4.0m  ,-,-, 1. 000 833.3 833 43
P (
50, 000n8 1.110 221 245 35
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0. 8n8( 0.6n8), ( ). . 0. 3km 1.110 364. 4 404 41
1,482
1,482
4.0m B 1.000 n3
P
4.0m 10, 0008 1. 000 238. 7 239 44
sP (
50, 000n8 1.110 221 245 35
sP
0. 8ng( 0.6n8), ( ). . 0. 3km 1.110 364. 4 404 41
888
888
1. 000 n3
sP
4.0m 10, 000n8 1. 000 238. 7 239 44
P (
50, 000n8 1.110 221 245 35
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0. 8nB( 0.6n8), ( ),

. 0. 3km

1.110

364. 4

404

41

888

888

10

B 1.0m  GC=60kN n2

1.000 nB

.1m ,0.0ton, -, .0

1. 500

1,103

1,655

56

0. 020

ton

15, 700

314

1, 969

1,969

11

1.0m B 2.5m  G=60kN n2

1. 000 n8

.Am ,0.0ton, -, .0

5.300

1,103

5, 846

56

0.070

ton

15, 700

1,099

6, 945

6. 945
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12

2.5m B 4.0m  C60kN n2

4.000 n3

,1m ,0.0ton, -, .0

7. 800

1,103

8, 603

56

0. 200

ton

15, 700

3,140

11, 743

2,936

13

4.0m B G=60kN n?

5.000 n3

.1m ,0.0ton, -, .0

12. 500

1,103

13, 788

56

0.230

ton

15, 700

3,611

17,399

3, 480

14

1. 000

1. 000

721.3

721

46
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26)

721
721
15
N 1.000 n8
(
50, 0008 1. 000 221 221 35
0. 8nB( 0.6n8), ( ), . 22. 5km 1. 000 2,635 2,635 42
2,856
2,856
16
L B=300 9. 000
SP
- i .-..18-8-40( B) W50 1. 000 36,120 36,120 60
%
P
8. 200 8,274 67, 847 52
SP
302 ) t=10mm 0. 100 4, 895 490 55
P
12. 5cm 17.5cm RG 40 40 Omm 2. 700 1,383 3,734 51
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108, 191

12, 021
17
B=300 9. 000
SP
- - .-..18-8-40( B) W50 1. 600 36,120 57,792 60
%
P
16. 400 8,274 135, 694 52
SP
30n2 ( ) t=10mMm 0.200 4,895 979 55
P
12. 5cm 17.5cm RG40 40 Onm 7. 200 1,383 9, 958 51
204, 423
22,714
18
L=5.1m 1. 000 n8
P
( ).-.- 1. 000 1,989 1,989 37
1, 989

1, 989
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19
L=5. 1Im 1.000 n8
( ) 1.000 2,102 2,102 2
2,102
2,102
20
t=100 L=3.0m 1.000
3.0 1.000 8, 088 8, 088 18
D16 600x 200x 600, , 0.500 550 275 9
8,363
8, 363
21
t=100 L=3.7m 1.000
L=3.7m 1. 000 7, 862 7, 862 1
D16 600x 200x 600, , 0. 500 550 275 9
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8, 137

8, 137

22

1. 000 n8

1. 000

1,193

1,193

32

0. 8nB(

0.6n8),

(

).

, 0. 3km

1.000

364. 4

364

41

1,557

1,557

23

1.000

1. 000

891. 8

892

47

892

892

24
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18-8-40

1. 000 nB

-, 18-8-40(

B WGs0

1. 000

36, 120

36, 120

60

%

36, 120

36, 120

25

1. 000

1.000

8,274

8,274

52

8,274

8,274

26

L=150 SDB45, D13

ton

1.000 ton

SB45, D13,

, 10t

. 10%

1. 000

ton

174, 645

174, 645

17

174, 645

174, 645
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27
=300 S0845, D13 ton 1.000 ton
SCB45, D13, , 10t . , , 10% 1. 000 ton 174, 645 174, 645 17
174, 645
174, 645
28
@ 6,150x 150 1. 000
6x 150x 150 1. 000 487 487 10
487
487
29
18-8-40 n3 1. 000 n3
P
- - .-, 18-8-40( 1. 000 n8 30, 630 30, 630 61
W 360%
30, 630
30, 630
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26)

30
1. 000
P
1. 000 9,137 9, 137 53
9,137
9,137
31
RG 40 t =150 1. 000
P
12. 5cm 17.5cm RG40 40 Onm 1. 000 1,383 1,383 51
1,383
1,383
32
t=10 1. 000
P
30n2 ) t=10mMn 1. 000 4, 895 4, 895 55
4, 895

4. 895
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33

1. 000 n8

1m

2m

1.000

291.9

292

38

0. 8ng(

0. 6n3) ,

(

).

. 0. 3km

1. 000

364. 4

364

41

656

656

1. 000

1. 000

459.9

460

45

460

460

35

1. 000 n8

1. 000

2,102

2, 102
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26)

S (
50, 000n8 1.110 221 245 35
P
0. 8n3( 0.6n8), ), . 0. 3km 1.110 364. 4 404 41
2,751
2,751
36
1. 000 n8
P (
50, 000n8 1. 000 221 221 35
P
0. 8n3( 0.6n8), ). . 22. 5km 1. 000 2,635 2,635 42
2, 856
2, 856
37
As 1. 000
P
, 15cm 1. 000 590.9 591 49

591
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591

38

1. 000

gp

. 15cm

1. 000

840. 4

840

50

840

840

39

1.000 n8

1. 000

1,610

1,610

15

1,610

1,610

40

1. 000 nB

1. 000

1, 645

1, 645

16

1 645




( 17/ 26)

1,645
41
nB 1.000 n3
( 15cm ), .3.5km 1.000 n8 2,293 2,293 48
2,293
2,293
42
n8 1. 000 n3
( ) FEEN 1. 000 ns 1,080 1, 080 33
1,080
1,080
43
n8 1. 000 n3
0. 8ng( 0.6n8), ( ), , 22. 5km 1. 000 n8 2,635 2,635 42
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2,635

2,635

1. 000

N 1. 000 115.9 116 57

116

116

45

RM30 t=100 1. 000

S &
RM30,-.-..1 . . Onm 100mm 1. 000 500. 4 500 58

500

500

46

As13 t=40 1. 000

P (13)
1.4m 3.0m . 40mm (2.30 2. 40t/ n3 ). . . 1. 000 1,907 1 907 59
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26)

(20)

1, 907

1,907

47

18-8-40

1. 000 n8

sP

(

,18-8-

1.000

37,680

37,680

62

40(

B WGs0%

37,680

37,680

48

1.000

1. 000

8,274

8,274

52

8,274

8,274

49
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18-8-25

1. 000 nB

P
(

1. 000

36, 860

36, 860

63

18- 8- 25( 20) ( B) WG60%

36, 860

36, 860

50

1. 000

1.000

4, 622

4, 622

4, 622

4, 622

51

1. 000

.66, 1,

1. 000

1,039

1,039

29

1,039

1,039
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26)

52

1.000 n8

.5, 000n8

1. 000

306. 8

307

307

307

53

1. 000

.. On8,

1.000

751

751

21

751

751

1. 000 n8

sP

(

50, 000n8

1. 000

221

221

35

sP

0. 8n3(

0. 6n8),

(

),

, 22. 5km

1. 000

2,635

2,635

42

2, 856
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2, 856
55
1. 000
1. 000 7,381 7,381 22
1. 000 9, 228 9,228 23
3 6 30 1. 000 28,311 28,311 24
100mMm 1. 000 56, 400 56, 400 27
101, 320
101, 320
56
1. 000
48, .0 6 1. 000 478, 444 478, 444 25
50mm 1. 000 19, 814 19, 814 28
498, 258

498, 258




(23

26)

57

1. 000

1. 000

48, 843

48, 843

26

50mm

1.000

19, 814

19, 814

28

68, 657

68, 657

58

1. 000

1.000

16, 275

16, 275

16, 275

16, 275

59

1. 000 nB

. 5,000n8

1. 000

306. 8

307

307

307
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60

1. 000 n8

SP

(

50, 000n8

1.000

221

221

35

sP

0. 8ng(

0. 6n3) ,

(

).

. 22. 5km

1. 000

2,635

2,635

42

2, 856

2, 856

61

1. 000

1. 000

66

66

19

1. 000

38

38

20

104

104

62

1. 000 nB
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(

50, 000n8 1. 000 n8 221 221 35
.4.0,0. 2k£n ) 0.45( 0.35)n8, 1. 000 n8 664 664 1
885
885
63
N=76 ton 1.000 ton
( ( ! ).12m  , 10km 1. 000 ton 8. 320 8,320 30
),,0.0,0.0
8,320
8,320
64
11 1. 000
,@-10m 1. 000 66, 100 66, 100 31
66, 100

66, 100
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26)

65

1.000

1. 000

18, 000

18, 000

11

18, 000

18, 000

66

1. 000

58

35

1.000

183, 000

183, 000

12

183, 000

183, 000

67

1. 000

1. 000

7, 300

7, 300

13

7,300

7,300




